
5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

The reference designs contained in this document are for reference and example purpose only. 
THE REFERENCE DESIGNS ARE PROVIDED "AS IS" AND "WITH ALL FAULTS" AND 
INTERSIL DISCLAIMS ALL WARRANTIES, WHETHER DIRECT, INDIRECT, CONSEQENTIAL
(INCLUDING LOSS OF PROFITS), OR OTHERWISE, RESULTING FROM THE REFERENCE
DESIGNS OR ANY USE THEREOF.
Any use of such reference designs is at your own risk and you agree to indemnify Intersil  for
any damages resulting from such use.

BOM Item Description

VIN

GND

VOUT

GND

PG

Disable

XX1 @ U1pin 14 to 15

TO SEQUELFROM PREQUEL

12V

Addr=2Fh

3.3V

Place C13 
near pin 30

Enable/
Monitor

DDC

SA

Vi2c

SCL

RSVD1 RSVD1

RSVD2 RSVD2
RSVD3 RSVD3

GNDGND

GND

SALRT
SDA

DDC

MSTR_SYNC

MSTR_EN

GND

SALRT

DDC

SCL

SDA

Vi2c

MSTR_SYNC

MSTR_EN

MSTR_EN

SALRT
SDA
SCL

V2P5

BST

VRA

VIN

SW

VR

VOUT

SGND

VRA

Vi2c

SGND SGND

VRA

VRA

SGND

SGND

Title

Size Document Number Rev

Date: Sheet of

RSCH-ZL2102-001 B

ZL2102DEMO1Z CIRCUIT

Intersil Corporation
Zilker Labs
900 S. Capital of Texas Hwy.
Las Cimas IV, Suite 200
Austin, Texas  78746

1 1Sunday, April 14, 2013

Custom

Title

Size Document Number Rev

Date: Sheet of

RSCH-ZL2102-001 B

ZL2102DEMO1Z CIRCUIT

Intersil Corporation
Zilker Labs
900 S. Capital of Texas Hwy.
Las Cimas IV, Suite 200
Austin, Texas  78746

1 1Sunday, April 14, 2013

Custom

Title

Size Document Number Rev

Date: Sheet of

RSCH-ZL2102-001 B

ZL2102DEMO1Z CIRCUIT

Intersil Corporation
Zilker Labs
900 S. Capital of Texas Hwy.
Las Cimas IV, Suite 200
Austin, Texas  78746

1 1Sunday, April 14, 2013

Custom

L1

2.2uH, 8.8mOhm

L1

2.2uH, 8.8mOhm

C3
100uF
4V
X6S

C3
100uF
4V
X6S

R
4

10
.0

k
R

4
10

.0
k

XX10 SCREW_#4-40.25LG_ZP_PH_PHLPXX10 SCREW_#4-40.25LG_ZP_PH_PHLP

XX6 STANDOFF_#4-40.75LGXX6 STANDOFF_#4-40.75LG

C7
4.7uF
10V

C7
4.7uF
10V

SW1

SW_SPDT

SW1

SW_SPDT

1
2
3

C8
10uF
6.3V

C8
10uF
6.3V

R
5

10
.0

k
R

5
10

.0
k

XX3 STANDOFF_#4-40.75LGXX3 STANDOFF_#4-40.75LG

R1
42.2K
R1
42.2K

R
9

10
0K

R
9

10
0K

XX2XX2

XX9 SCREW_#4-40.25LG_ZP_PH_PHLPXX9 SCREW_#4-40.25LG_ZP_PH_PHLP

R
6

4.
75

k
R

6
4.

75
k

C1
10uF
C1
10uF

C6
4.7uF
10V

C6
4.7uF
10V

GNDGND

C5
22uF

X7R
25V

C5
22uF

X7R
25V

R
2

10
.0

k
R

2
10

.0
k

R10
200
R10
200

C12
0.1uF
25V
X7R

C12
0.1uF
25V
X7R

J6

HDR_3X2_RA

J6

HDR_3X2_RA

2

4

6

1

3

5

J5J5

XX4 STANDOFF_#4-40.75LGXX4 STANDOFF_#4-40.75LG

XX7 SCREW_#4-40.25LG_ZP_PH_PHLPXX7 SCREW_#4-40.25LG_ZP_PH_PHLP

XX11 PCB MPWB-ZL2102-001XX11 PCB MPWB-ZL2102-001

J2

HDR_3X2_RA

J2

HDR_3X2_RA

2

4

6

1

3

5

XX1XX1

J3

SKT_3X2_RA

J3

SKT_3X2_RA

2

4

6

1

3

5

U1

ZL2102

U1

ZL2102

PG
1

DGND
2

SYNC
3

VSET
4

SCL
6

SDA
7

SALRT
8

FC
9

C
FG

10

S
S

11

D
N

C
12

V
S

E
N

13

P
G

N
D

15

P
G

N
D

16

P
G

N
D

17

P
G

N
D

18

PGND
19SW
20

SW
22SW
23

SW
25BST
26

SW
21

VDDP
27

V
D

D
P

28
V

D
D

P
29

V
D

D
S

30
V

R
31

V
2P

5
33

D
D

C
34

M
G

N
35

E
N

36

SA
5

S
G

N
D

14

SW
24

V
R

A
32

S
G

N
D

37

J8

SKT_3X2_RA

J8

SKT_3X2_RA

2

4

6

1

3

5

XX5 STANDOFF_#4-40.75LGXX5 STANDOFF_#4-40.75LG

XX8 SCREW_#4-40.25LG_ZP_PH_PHLPXX8 SCREW_#4-40.25LG_ZP_PH_PHLP

C4
22uF
25V
X7R

C4
22uF
25V
X7R

C2
100uF
4V
X6S

C2
100uF
4V
X6S

D1
GREEN
D1
GREEN

J7J7

R
3

10
.0

k
R

3
10

.0
k

J1J1

J4J4

C13
0.1uF
25V
X7R

C13
0.1uF
25V
X7R


